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IIl Semester 5 Year B.A. LL.B. (Maj. — Min. System)
Examination, June/July 2018
Major — 4 : ECONOMICS
(Economic Development of India)

Duration ;: 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.
2. Q. No. 9 carries 20 marks and remaining questions
carry 16 marks each.
3. Answers should be written either in English or Kannada
completely.

Define population explosion. Explain the effects of population
explosion in India. Marks :

RWRRO, RRpeims) T IBAIR. YPOSTE, WHROL f;@gud

Somsorvsy Dok,

Explain the factors contributed to the Green Revolution in India.

Explain the achievements and failures of Green Revolution. Marks :
PTBRY. BAT B0 mdmﬁ@;&i DTOX. TATO 03030

ESNISS B s%ﬁe%ﬁe}ag QO

Explain the need for industrialisation in India and discuss the

features of 1991 industrial policy. Marks :
OIS §moedng esgEeir dSon R08; 19918 §rwom

Redc e)imn’# o, 23uFR.

Explain the importance of small scale industry in India.
{ROSRY, Bey, FroENe DBITI) TORO.




Define public expenditure. Explain the causes for increasing
public expenditure in India. Marks : 16

TRVFERIT DEFI B, PROBEE), TOTFLRT 3, TR
FTEMNTR) QDOR.

Explain the achievements and failures of economic planning
in India. Marks : 16

PUBEG), SHFE cdRensnG WHs w08y FPOINS) QTON.

Explain the importance of agriculture in Indian economic
development. Marks : 16

OIS SOFE LRBOHY Fack TRNICIRG ST

Write short note on any two of the following : Marks : 2x8=16
cinmEdR So B0 LS B0 :
a) Density of population
%S WoT
b) Trade Unions
FOFT ROTFLIBNED
¢) Agricultural finance.
TA BESTRO.

Write short note on any two of the following : Marks : 2x10=20
CIRFYTOR FTREE, B0 SosoliNoleiel L
a) Sources of revenue of the Central Government

0% BEFOR SmROIT BIOND

b) Land reforms
PR ROGUH
EXIM policy.
SR T Ned,
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d Semester 5 Year B.A.LL.B. (Maj.-Min. System)
Examination, December 2017
Major — 4 : ECONOMICS
(Economic Development of India)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No. 9 andany five of the remaining questions.

. Q. No. 9 carries 20 marks and remaining carries 16 marks
each,

. Answers should be written either in English or Kannada
completely.

Explain various features of India as a developing economy.

cond=—d P\ B oy omasdutyed g gmdomd —al ate &‘.3‘&‘“'\';4\ =N F
ooty S0 RUST BTF EGRA0R CUtunvew WRWOA,
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What are the causes of population explosion in India ? What
are its effects ?

LROBEY BRI, AREEE RTENRIYR) ?
Explain briefly the factors contributed to Green Revolution in
India. What are its limitations 7
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LROIRY) BAD) T30 TRUERHT SOINY OIRYE
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Explain the different types of unemployment. What are the
steps taken by the government to overcome this in India ?
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What is trade union ? What are the problems of trade union in
India ?
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Briefly explain the role of small scale and cottage industries in
lndia. What arg its problems ? Marks : 16

.&VJ‘.M O.

Explain the various heads of central government expenditure
in India. Marks : 16
$eom, AUTITW WG 3 [N L=
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P

Write a brief note on any two of the following : Marks : 2x8=16

2 ool Py wd - ), e, sty -.-J P oy e B Bt Gord A -r ¥
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(c) Types of Irrigation.

O o e, = 55
QeTITWOOI ww: .

Answer any two of the following : Marks :

A T, e, sy s - _.) e e ol
w.,..gw¢«uf‘ Dule :\’ZG_’QAA).

(a) Nationalisation of commercial banks.

—_ — 2 0, gt
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(b) Land reforms.
230 BOTRTR.
} Disequilibrium in balance of payment.

—3 el TN E e
Wowe DR A XE;C\VCJ.
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Il Semester 5 Years B.A.LL.B. (Major-Minor System)
Examination, June/July 2017
ECONOMICS (Major 4)

(Economic Development of India)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2 Q. No. 9 carries 20 marks and the remaining questions
carries 16 marks each.

3. Answers should be written either in English or Kannada.

. Discuss the main features of Indian Economy. Marks :
ROSE SOFF F[HoD PN iR ?
. Explain the measures taken by the Government of India to
eradication of poverty and unemployment.
WESS R ATTREN BIANY ePTeEI (0B FEr T FrinoRdw
wWOTO §,mﬁej;ii 3920,

. Explain the importance of agriculture sector in Indian economy.

O3S sorE FTHoDY Fa FET BB T, JFOR.

<

. What is Industrial Dispute ? Explain the characteristics of
industrial labours in India.

gmom T 2Bt ? RUSEY, §rRdE TFTT OFLANED
CIRRD) ?

. What are the objectives of nationalisation of Commercial Banks
in India and discuss their achievements.
PRUBEG, Wordy, wWRONT Do FORS YUSEBNd Ry ?
Doy (33 soedey o3, 0BT TRGINIRS, 394,
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Q. No. 6. Explain the various revenue sources of the Central Government.  Marks : 16

) =\ e
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Q. No. 7. What are causes for disequilibrium in balance of payment ?
Explain its corrective measures. Marks : 16

- -~ = N o e . et Py -, -
ROTROD tRIOL YRRVBRLUTE, TTLNFI P2 X Towaod
v <} [

T P A s - =
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Q. No. 8. Write short notes on any two of the following : Marks : 8x2 =16
CRNFTRTEAL VBT OFO E3TS WTOWDO:
(a) Density of population.

ey e
TR CTS,
-’

(b) Green Revolution.

— ~
DATS T,08.

—

(c) Small scale and cottage industries.

} ) - — e
n® W [eY Frodsne.
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Q. No. 9. Explain any two of the following : Marks : 10x2 =20
CIRR)TRTTR TTERY ITO:

(a) Trade Unions.

-~ = et D ed
TEWFE FoTJLd.

(b) New Economic Policy (L.P.G.).

o

TR SOFT Jee.

Irrigation system.
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Il Semester 5 Year B.A.LL.B (Major-Minor System)
- Examination, December 2016
Major-4 : ECONOMICS
(Economic Development of India)

Duration ; 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.
2. Question No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

. Define Population Explosion. What are the effects of Population
Explosion in India ? Marks :
wRRcsR, ARELTR) T4 RUSEE

© 2 s
TOFBIWINTR), IO

. Explain the various sources of Irrigation in India.
RUSEY, ATHTOCDH DG TRONFES HROR.

. Explain the need for industrialisation in India and discuss the
features of 1991 Industrial Policy. Marks :
RSB, FTROEtns SB[ Dmor B 19910 grwdse
Redod gmnd wil WA,

_ Discuss the merits and demerits of M.N.C’s. in India.
PROEE COFESHNY, wRTHACD JoTING PRBROND o=
ema’oﬁm@ﬁ@.&; FIFA.

. Explain the Monetary Policy of Reserve Bank of India.
45203803 ORS'E mﬁoés 2e0dd VeSO, S0

. What s Public Expenditure ? Explain the causes for increasing
Public Expenditure in India. Marks : 16

W S, 20006 ? WRITTY, RRFENE 5, BB
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Q. No. 7. Discuss the causes for industrial disputes. Explain the machinery
for the settlement of Industrial disputes. Marks : 16

%m&aa DeRTnen a:o’seﬁ%f;i)_‘ W3Fs. Tng womd{, olob ]
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Write short notes on any 2 of the following : Marks : 2x8=16
CIRFYTRTOR ITBR, B0 OFO LTS WOOWO:
a) Agricultural Finance.
b) Trade Unions.
FOFE ROTHITNLL.
¢) Functions of Commercial Banks.
ey 3,080 FOFTSO-

Answer any 2 of the following : Marks : 2x10=20
CIRTTRTTR STHWRY BB WSO :
a) Density of population.
HIWOTE.
b) Small-scale and cottage industries.
Reg, oy 108 FIWEErsL.
Public debt.
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Third Semester 5 Year B.A. LL.B. (Major-Minor System) Examination,
December 2015
Major — 4 : ECONOMICS
(Economic Development of India)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q.No. 8 and any five of the remaining questions.

2. Question No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

. Answers should be written either in English or Kannada
completely.

. Define the economic classification of countries. Examine the
various features of India as an Underdeveloped country. Marks :
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. Explain the defects of Agricultural Marketing in India. What are
the measures taken by the Government to improve it ?
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. Examine the factors contributed to the Green Revolution in India.
Explain the achievements and failures of Green Revolution.
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. What are the various types of unemployment in India ?.Explain
the causes of unemployment and employment programmes
introduced by the Government of India.
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Q. No. 5. Examine the overall achievements and failures of Five Year Plans
Marks : 16

T o T o o Y B N
SRR AROENYAD FoS
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Whatis a trade union ? What are the defects of trade unions in
India ? Marks : 16

TF T Hoghedd SoTiny Y B0 Aol destvd cInga?
Critically examine the New Economic Policy of the Government
of India.

T SRCLN) OSSN SO
Write short notes on any 2 of the following : Marks : 8x2=16

a) Sources of Revenue of the Central Government.

P el cie it T
= iNo Wil sis 1o i ST e v et

b) Role of Small Scale and Cottage Industries in India.

WRUSTY Try, T2 MRS MOINY 3.

-

¢) Industrial Disputes.

Write short notes on any two of the following : Marks : 10x2=20

a) Achievements and failures of Nationalised Commercial
Banks in India

B e e o pad — A pem o e ded -
G u:‘S\_A oo -53 we A WL 5-4 9 A
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Industrial Policy Resolution of 1956.

8 Mot otd Ty - 1956

Industrial Palicy Resolution of 1291

EMmiT o8 Ty - 1991.




